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A2 ARFEERENE

-RHEN

EE K ZDithE B=(7/1~9/30) ZDhE " ZHEH
SH2E 1A 2R 38 48 58 68 78 8H 98 108 118 128 (kw)
-fE A& (kWh) 179,600 168,800 177,600 172,500 175,600 173,700 181,900 186,200 177,300 178,100 172,000 181,300 2,124,600
Z0E 87,800 82,500 98,100 86,300 83,500 97,700 0 0 0 101,000 86,600 91,300 814,800
g kS 0 0 0 0 0 0 77,300 78,300 73,700 0 0 0 229,300 348
B E—SB 0 0 0 0 0 0 18,100 18,600 17,400 0 0 0 54,100
| 91,800 86,300 79,500 86,200 92,100 76,000 86,500 89,300 86,200 77,100 85,400 90,000 1,026,400
HH§KE Z 0t HZ(7/1~9/30) ZDithZE 5 ZHEH
SH2E 1A 2R 38 48 58 64 78 8H 98 108 18 128 (kw)
-fEFE (kWh) 84,900 80,000 84,200 80,400 84,800 83,700 88,300 91,400 87,600 88,000 85,000 87,000 1,025,300
" Z0E 84,900 80,000 84,200 80,400 84,800 83,700 0 0 0 88,000 85,000 87,000 758,000
i kS 0 0 0 0 0 0 88,300 91,400 87,600 0 0 0 267,300 219
- E—SB 0 0 0 0 0 0 0 0 0 0 0 0 0
| 0 0 0 0 0 0 0 0 0 0 0 0 0
53K KIR ZDithE B=(7/1~9/30) ZDihE 5 ZHER
SH2E 1A 2R 38 48 58 68 78 8H 98 108 118 128 (kw)
-fEFE (kWh) 49,100 46,300 48,300 46,400 47,200 45,500 46,900 49,000 45,800 45,900 45,300 49,900 565,600
" Z0E 26,100 24,800 26,000 21,100 25,200 26,300 0 0 0 26,800 23,200 25,700 225,200
i kS 0 0 0 0 0 0 21,300 22,200 20,500 0 0 0 64,000 115
- E—/B 0 0 0 0 0 0 4,200 4,400 4,100 0 0 0 12,700
| 23,000 21,500 22,300 25,300 22,000 19,200 21,400 22,400 21,200 19,100 22,100 24,200 263,700
RE KSR ZDithE B=(7/1~9/30) ZDihZE 5 ZHER
SH2E 1A 2R 38 48 58 68 78 8H 98 108 118 128 (kw)
-fEFE (kWh) 50,800 47,400 48,500 44,400 46,100 46,700 50,000 55,600 51,200 51,800 51,600 51,200 595,300
" Z0hE 50,800 47,400 48,500 44,400 46,100 46,700 0 0 0 51,800 51,600 51,200 438,500
i kS 0 0 0 0 0 0 50,000 55,600 51,200 0 0 0 156,800 161
- E—/B 0 0 0 0 0 0 0 0 0 0 0 0 0
| 0 0 0 0 0 0 0 0 0 0 0 0 0
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A3 ERAENERVRAZNENORKE (BEHKEH)

EEKG ZDhE B=(7/1~9/30) ZDih=E .
A2 18 28 37 47 58 68 78 88 98 108 18 128 A
BRAFEEN W) 330 345 344 332 338 339 338 348 338 331 334 338
-fEA= (kWh) 179,660 168,760 177,540 172,500 175,590 173,631 182,015 186,187 177,357 178,146 172,030 181,232 2,124,648
. ZDhE 87,840 82,480 98,080 86,340 83,490 97,677 0 0 0 101,031 86,613 91,268 814,819
A 23 0 0 0 0 0 0 77,333 78,314 73,729 0 0 0 229,376
= E— V85 0 0 0 0 0 0 18,142 18,597 17,412 0 0 0 54,151
®ME 91,820 86,280 79,460 86,160 92,100 75,954 86,540 89,276 86,216 77,115 85,417 89,964 1,026,302
BHFKS TOhE B=(7/1~9/30) TOhE _
SF24E 18 2R 3A 4R 5A 6A 7R 8A 9A 108 118 128 :
BXAFEEHA W) 191 188 191 200 193 210 201 219 217 199 200 198
-fERAE (kWh) 84,938 80,041 84,201 80,387 84,756 83,677 88,266 91,421 87,613 87,995 85,028 87,048 1,025,371
. Z0ihE 84,938 80,041 84,201 80,387 84,756 83,677 0 0 0 87,995 85,028 87,048 758,071
H 2= 0 0 0 0 0 0 88,266 91,421 87,613 0 0 0 267,300
= E—28H 0 0 0 0 0 0 0 0 0 0 0 0 0
®HE 0 0 0 0 0 0 0 0 0 0 0 0 0
53K KiR ZDhE B=(7/1~9/30) ZDih=E .
A2 18 28 37 47 58 68 78 88 98 108 18 128 A
BRAFEEN W) 115 109 111 108 105 104 105 107 104 104 103 108
-fE A= (kWh) 49,105 46,269 48,325 46,376 47,177 45,408 46,901 48,971 45,803 45,879 45,342 49,833 565,389
. ZDhE 26,098 24,784 25,989 21,061 25,185 26,258 0 0 0 26,757 23,230 25,658 225,020
A 23 0 0 0 0 0 0 21,279 22,177 20,543 0 0 0 63,999
= E— V85 0 0 0 0 0 0 4216 4,394 4,050 0 0 0 12,660
®ME 23,007 21,485 22,336 25,315 21,992 19,150 21,406 22,400 21,210 19,122 22,112 24,175 263,710
HEHKS TOhE B=(7/1~9/30) TOhE _
SF24E 18 2R 3A 4R 5A 6R 7R 8A 9A 108 118 128 :
BAFEEHN W) 113 114 115 112 111 110 111 161 113 110 111 114
-fERAE (kWh) 50,805 47,356 48,549 44,439 46,135 46,693 49,957 55,631 51,175 51,754 51,647 51,240 595,381
& Z0ihE 50,805 47,356 48,549 44,439 46,135 46,693 0 0 0 51,754 51,647 51,240 438,618
H 2= 0 0 0 0 0 0 49,957 55,631 51,175 0 0 0 156,763
= E—28H 0 0 0 0 0 0 0 0 0 0 0 0 0
®HE 0 0 0 0 0 0 0 0 0 0 0 0 0
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